

$$x \rightarrow -2 \Rightarrow \left. \begin{aligned} &2 \left[\frac{2-(x)}{2} \right] + a \left[\frac{-(x+2)}{2} \right] = 2-a \\ &2 \left[\frac{2-(x)}{2} \right] + a \left[\frac{-(x+2)}{2} \right] = 2 \end{aligned} \right\} \Rightarrow 2-a = 2 \Rightarrow a = 0$$

$$\left[\frac{a}{2} \right] = \left[\frac{0}{2} \right] = 0$$

۱

$$\lim_{x \rightarrow \frac{\pi}{4}^-} [x \sin x] \Rightarrow \text{Unit Circle Diagram} \Rightarrow x \sin \frac{\pi}{4} = 1^- \Rightarrow [1^-] = [0^-] = -1$$

۲

$$\lim_{x \rightarrow \frac{1}{e}^-} [x^n - x] \Rightarrow x \Rightarrow \frac{1}{e} \Rightarrow \left[\frac{1}{e} \times \frac{1}{e} - \left(\frac{1}{e} \right) \right] = \left[-\frac{1}{e} \right] \Rightarrow -\frac{1}{e}$$

۳

$$\lim_{x \rightarrow \frac{1}{e}^-} \frac{\log x - \omega + \left[\frac{x}{x^2} \right]}{14x - \left[-\frac{x}{x^2} \right]} \Rightarrow \left. \begin{aligned} &\left[\frac{x}{\frac{1}{e}} \right] = \left[x \times e \right] = 11 \\ &\left[\frac{x}{\frac{1}{e}} \right] = \left[-x \times e \right] = -11 \end{aligned} \right\} \Rightarrow \frac{\log x + 11}{14x + 11} \Rightarrow \frac{+1}{0^-} = -\infty$$

۴

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 \pi x}{[x] + \cos \pi x} \Rightarrow \frac{\sin^2 \pi x}{1 + \cos \pi x} \Rightarrow \frac{1 - \cos^2 \pi x}{1 + \cos \pi x} \Rightarrow \frac{(1 - \cos \pi x)(1 + \cos \pi x)}{1 + \cos \pi x} = 1 - \cos \pi x$$

$$x \Rightarrow 1^+ \Rightarrow 1 - (-1) = 2$$

۵

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+1} - \sqrt{x+5}}{1+\sqrt{x}} \times \frac{(\sqrt{x+1} + \sqrt{x+5})}{(\sqrt{x+1} + \sqrt{x+5})} \times \frac{(1-\sqrt{x} + \sqrt{x^2})}{(1-\sqrt{x} + \sqrt{x^2})} \Rightarrow \frac{(-x-1) - (x+5)(1+\sqrt{x})}{(1+x)(\sqrt{x+1} + \sqrt{x+5})}$$

(-x-1) = 1 - (x+1)

$$\Rightarrow x \Rightarrow -1 \Rightarrow \frac{(-1)(1)}{1} \Rightarrow -\frac{1}{1}$$

$$\lim_{x \rightarrow 1} \frac{x - \sqrt{x+4}}{x - \sqrt{x+1}} \Rightarrow \text{L'Hôpital} \Rightarrow \frac{1 - \frac{1}{2\sqrt{x+4}}}{1 - \frac{1}{2\sqrt{x+1}}} \Rightarrow \frac{1}{1} = 1$$

-4

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} = \frac{1}{x} \Rightarrow \text{L'Hôpital} \Rightarrow \frac{\frac{b}{2\sqrt{bx+c}}}{1} = \frac{b}{2\sqrt{c}} = \frac{1}{x} \Rightarrow \frac{1}{x} = \frac{b}{2\sqrt{c}}$$

(1)

$$\hookrightarrow x \Rightarrow 0 \Rightarrow a + \sqrt{c} = 0 \Rightarrow \sqrt{c} = -a \Rightarrow \frac{b}{-a} = \frac{1}{x} \Rightarrow \frac{ab}{c} = \frac{1}{a^2} \Rightarrow \frac{ab}{c} = \frac{-1}{x^2}$$

$$\lim_{x \rightarrow \pi} \frac{f(x) \left[\frac{x}{\pi} \right]}{\sin x} = +\infty \Rightarrow \left. \begin{array}{l} \begin{array}{l} \nearrow \Rightarrow \frac{f(x) \left[\frac{x}{\pi} \right]}{\sin x} \Rightarrow \frac{f(x) - f(\pi)}{0^+} = +\infty \\ \searrow \Rightarrow \frac{f(x) \left[\frac{x}{\pi} \right]}{\sin x} \Rightarrow \frac{f(x) - f(\pi)}{0^-} = +\infty \end{array} \right\} \Rightarrow$$

$$f(x) > 0 \Rightarrow x < \pi \quad / \quad f(x) < 0 \Rightarrow x > \pi \quad / \quad \frac{f(x) - f(\pi)}{x - \pi} = \frac{1}{x - \pi}$$

-1 = [-k]

$$\lim_{x \rightarrow 1} \frac{b\sqrt{x+1} - \sqrt{b}}{ax - b} \Rightarrow \text{L'Hôpital} \Rightarrow \frac{b \cdot \frac{1}{2\sqrt{x+1}}}{a} = \frac{b}{2a} = \frac{1}{a}$$

(1)

$$\hookrightarrow a - b = 0 \Rightarrow b = a \Rightarrow \frac{1}{a} = \frac{1}{a}$$